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Robust and Optimal Control  - A Two-port Framework Approach

Purpose of controller：Purpose of controller：
1. Control the rotational degree of the servo motor as the input.
2. Minimize the supply voltage to achieve the target.
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Model of servo motor：

Dynamic equation：
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Robust and Optimal Control  - A Two-port Framework Approach

The block diagram of servo motor for full state feedback control：The block diagram of servo motor for full state feedback control：
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Robust and Optimal Control  - A Two-port Framework Approach

From the following list, we can seen that the P(s) is similar as State Feedback(SF)From the following list, we can seen that the P(s) is similar as State Feedback(SF) 
case, so that the special case of State Feedback will be used to solve our problem.
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